Chemistry 30: Module 7: Lesson 5
1
Assignment Booklet

	
	Module 7: Lesson 5 ASSIGNMENT
Read all parts of your assignment carefully, and record your answers in the appropriate places. If you have difficulty with an assignment, go back to the textbook and review the appropriate lesson. Be sure to proofread your answers carefully before submitting your Assignment Booklet.


	
	1. Complete “Section 15.1” question 1 parts c, d, and g on page 688 in the textbook.



Answer:

	


	
	2. Complete “Section 15.1” question 3 parts a, b, and c on page 688 in the textbook.



Answer:

	


	
	3. Complete “Section 15.1” question 4 parts c and d on page 688 in the textbook.



Answer:

	


	
	4. Calculate the equilibrium constant for the following systems:

a. N2(g) + 3 H2(g) 
[image: image1.wmf]®

2 NH3(g), where the equilibrium concentrations are

N2(g)  = 2.12 mol/L
H2(g) = 1.75 mol/L
NH3(g) = 84.3 mol/L



Answer:

	


	 
	b. H2(g) + I2(g) 
[image: image2.wmf]®

 2 HI(g), where the equilibrium concentrations are

H2(g)  = 1.83 × 10−3 mol/L
I2(g) = 3.13 × 10−3 mol/L
HI(g) = 1.77 × 10−2 mol/L



Answer:

	


	
	5. Calculate the concentration of the products of the following equilibrium when the equilibrium constant is 12.3 and the equilibrium concentration of NOBr2 is 2.17 mol/L.


NOBr2 (g)
[image: image3.wmf]®

NO(g) + Br2(g)



Answer:

	


	Submit your completed Assignment Booklet to your teacher at the end of this lesson. 
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